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import sys

sys.path.append("statlib")

from univ import Pareto

Pareto(y, xlab, sort_flag=True, col="blue", hatch="/", lwd=0.5, ylab="FE#", title=None)

2.1 5I#
y JEBITAI R T bV
xlab JEB AT DFIX Iy D4HT (B HREED 7 ~0o)
sort_flag EBFADOREGIHICEREZ 2 (77 4V b & True)
col EHEERTHBO®HEE (577 4L ik "blue")
hatch BB RSO Ny F (FT7FVEE"///")
1wd PR OO (77 4L k1 0.5)
ylab ffedl 2 ~n (577 4 ki3 None)
title Moy A v (57 4L+ None)
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x = [56, 15, 38, 8, 10, 4, 2, 2, 1, 1]
X].ab - ["D—piﬁi"’ ll%iﬂll’ llgmll’ "lx\(h", ll-g-b gg»", lliﬁhll’ ll§u
hu, nﬂggfu, "Mﬂ", n’;b‘{hu]

import sys
sys.path.append("statlib")
from univ import Pareto




Pareto(x, xlab)
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